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HERZ-RZIER 20104E 20114 E 20104E 20114 E
Balk$ 2E |BaAk% 2E |BaAH 2E |BaA%H 2
FeEWZ 49 86Y% 48 89% 38 67% 36 67%
H 23 37 65% 38 70% 48 84% 45 83%
KIS A 37 65% 38 70% 44 7% 43 80%
Jiti 23 A 34 60% 35 65% 47 82% 44 81%
F BN A (FEER) 46 81% 46 85% 46 81% 43 80%
A (T TT7 4—) 34 60% 35 65% 51 89% 47 87%
AT RS A 32 56% 33 61% 37 65% 36 67%
1 JE R R 48 84% 50 93% 28 49% 21 39%
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EEREZ-RZIER 20104 £ 20114E 20104E 20114E
Balk# 2E |BaA% & |BAaAH% 2E |BaA%H 2
FeEWZ 34 60% 35 65% 27 47% 25 46%
H 2 1 2% 1 2% 1 2% 1 2%
KB A 2 4% 1 2% 0 0% 1 2%
Jitihs A 2 4% 3 6% 24 42% 24 44%
FE S A (FEER) 2 4% 2 4% 1 2% 1 2%
HNBA (BT TT ) 1 2% 2 4% 1 2% 1 2%
ISR AU 1 2% 1 2% 0 0% 1 2%
1 JE R R 30 53% 30 56% 26 46% 23 43%
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HERZ-RZIER 20104E 20114EE 20104E 20114 E
Balk$ 2E |BaA% & |BaAH 2E |BaA% 2
FeEWZ — — 47 87% — — 36 67%
H 2 — — 37 69% — — 45 83%
KB A — — 37 69% — — 43 80%
Jitihs A — — 33 61% — — 43 80%
FE S A (FEER) — — 22 41% — — 25 46%
AN (T TT 4—) — — 12 22% — — 23 43%
ISR A — — 23 43% — — 33 61%
) R AR — — 13 24% — — 19 35%




